AE-608

PGD in Labour Law
Term End Examination, 2016-17

Paper - I
Law Relating to Industrial Relations

Time : Three Hours] [Maximum Marks : 100
[Minimum Pass Marks : 40
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Note : Answer any five questions. All questions carry
equal marks.

1. ouae Sienfe ey efufem & eraia
frefafea &1 9HemET

(@) 9 AT
ORELSIEE
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(2)

Explain the following under Chhattisgarh Industrial
Relation Act :

(a) Labour Court
(b) Lockout

(¢) Employer
(d) Industrial Disputes

2. BOETE SfEifTR gy erfufTad, 1960 oY
ygE fouwaisl &1 auA wifsw) w@ A
sirenfie foere eifufam, 1947 ¥ s=R § 2

Discuss the salient features of Chhattisgarh
Industrial Relations Act, 1960. Is it better than
Industrial Disputes Act, 1947 ?

3. ‘‘sienfier faare sfufam, 1947 & st=wia
‘TUN' UK H YR & S IEd A
fafi= fofdl & mem 9 o SeRad fa=r
fem %1 =men wifsu)

“The Supreme Court of India through its various
judgements has provided a liberal extension to
the term ‘Industry’ under Industrial Disputes Act,
1947.” Explain.

4. "'9RdE wEE =OEeE 9 i foag
A=, 1947 & ST=<Fid URYIYG den Fafad
‘S I SFIURON w1 A AEH feam ®0
U hifeg |
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(3)

“The Supreme Court of India has provided a
new dimension to the concept of ‘Retrenchment’
defined and regulated under the Industrial
Disputes Act, 1947.” Describe.

5. sienfier fraem  (zomh smew)  erfufm,
1946 & A=<d f=fafReaa st gy S :

(o) 3Tdea grfaeRr
(b) HHfEM HEHR

(¢) TSIGH W HHBR
(d) S e

Define the following under Industrial Employment
(Standing Orders) Act, 1946 :

(a) Appellate Authority

(b) Appropriate Government

(c) Wages and Workmen
(d) Industrial Establishment

6. SiEnfirr freem (zomh smew)  eifufem,
1946 ! XA T T=BEA R TN Sl |
Throw light on the merits and demerits of

Industrial Employment (Standing Orders) Act,
1946.

7. of=nfier faere etfuftem, 1947 & oraid
fafi= g&r & wfal &t fag= s
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10.

(4)

Discuss the different kinds of penalties under the
Industrial Disputes Act, 1947.

BT Sl Wy AfutEm, 1960 &
Sida g9 e ot Fgfo T 3Tk SIUHRT
T TS YEYHl i AT HiTd |

Explain the provisions relating to appointment and
powers of Labour Commissioner under

Chhattisgarh Industrial Relations Act, 1960.

‘gugiar’ e gYERtd g 2 S
faerg fufem & otrid T ‘gl &
foramiia ®a &1 THaEty = § 2 fae=m
HITSTT |

When does a ‘settlement’ become effective ?
What is the period of operation of ‘settlement’
under Industrial Disputes Act ? Discuss.

‘Teal’ W MM F GHIW § ? Tedd Ud
qreeel H TR FdiEu|

What do you understand by ‘Strikes’ ? What is
the difference between strikes and lockouts ?
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